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(1), W i T 5 =R kT 472245 1 4 (Context Switch) 84k 49 £ R : (30%)

(a) Process-level |
(b) Kernel-level thread
(c) User-level thread

(2). Consider the following set of processes, with the length of the CPU-burst time

given in milliseconds:(40%)

Process Burst Time Priority Arrival Time
P 10 3 3
P, 1 1 0
Py 2 3 1
| ’ 1 4 2
Ps 5 2 4

(a). Draw five Gantt charts illustfating the execution of these processes using
FCFS(First-Come, First-Served), SJF(Shortest-Job-First),
Shortest-Remaining-Time-First, a nonpreemptive priority(a smaller priority
number implies a higher priority), and RR(quantum = 1) scheduling.(25%)

(b). What is the waiting time of each process for each of the scheduling

algorithm in part (a)? (15%) ' Lo :
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(a). et — B4 2 £ ho B (full adder) > H4X Y#Citaho » 8 R BS(sum)
R Co(carry ut) + F K 04 & (truth table) RBSEHS - (5%)
(b). #| A @)ttt e 2o 3 A % - 13448 L2 Carry Lookahead/w ik 3
A X3IX2X1X0MY3Y2Y 1 YO 844 74 K448 ho o 48 1 8 S35251S04
Cout- i Hi¥tm B T3L - 2w BRAFRABAR - (10%)

(4) % H MALUE 445 ™ Aoaddition | ~ T Msubtraction ) $2 T femultiplication |
¥3@EH -t — 1@ " KKk (algorithm) + A1 A LALUSAT " K skdivision
A +bit ¥ - (15%)




